
 

  

Composition of 3D FIXING SET 
 

Item No. Description No. of 
pieces 

100.121 Clamping Spring Φ 12 L 55

 

5 

100.122 Clamping Spring Φ 12 L 75

 

5 



 

  

200.121 Clamping Support Φ 12

 

 

5 

901.005 Clamp Holder 90º 

 

 

3 



 

  

200.061 Clamping Support Φ 6  L 53

 

 

1 

GRATIS 

100.061 Clamping Spring Φ 6 L 53

 

 

1 

GRATIS 



 

  

102.061 Stud Bolt Φ 6  L50 

 

 

1 

GRATIS 

102.062 Stud Bolt Φ 6  L80 

 

 

 

1 

GRATIS 



 

  

102.121 Stud Bolt Φ 12  L100 

 

4 

102.122 Stud Bolt Φ 12  L140 

 

4 

102.123 Stud Bolt Φ 12  L170 

 

4 



 

  

103.125 Round Nut Φ 12 M5 

 

8 

(2 x 
GRATIS) 

103.208 Round Nut Φ 20 M8 

 

17 

104.125 Bolt Φ 12 M5 

 

3 

104.126 Bolt Φ 12 M5 double 

 

4 



 

  

104.208 Bolt Φ 20 M8/M8 

 

10 

104.205 Bolt Φ 20 M8/M5 

 

3 

105.001 Adapter Φ 20x60 M8 

 

5 



 

  

105.002 Adapter Screw M8 

 

 

3 

105.008 Adapter Screw M8-M5 

 

2 

105.003 Support Pin Φ 6x15 M5 

 

6 



 

  

105.004 V-Support 90º 

 

1 

105.005 V-Support 120º 

 

1 

105.007 Support magnet  Φ 12 

 

1 



 

  

110.006 Support Stand ALU 125 

 

 

5 

110.002 Base Plate ALU 450 x 450 x 20 M8 

 

1 

500.002 Textile Bag 

 

 

 

 

 

 

 

1 



 

  

500.001 Case PVC 

 

1 

 

 


	Composition of 3D FIXING SET

